Purchase Order

Order Number : TFSPL/PO/23-24/000129 Supplier Code : RV232413533 [V0001734]

Supplier Detail	Shipped Location	Invoice Location	Corporate Address		
ANJLE MEP PROJECTS PVT LTD	Delhi	Delhi	TRAVEL FOOD SERVICES PRIVATE LIMITED		
41/1407, 2nd floor DDA Flat Madangir New Delhi,,,India Order Address Code :	New Terminal 1, Indira Gandhi International Airport, Domestic Departure SHA, Mehram Nagar, New Delhi, New Delhi, Delhi, 110037	New Terminal 1, Indira Gandhi International Airport, Domestic Departure Sha, Mehram Nagar, New Delhi, New Delhi, Delhi, 110037	1St Floor, Block A South Wing, Shiv Sagar Estate, Dr. Annie Besant Road, Worli, Mumbai Suburban, Maharashtra, 400018 Comp GST No : 21AADCB2762L1ZU		
PAN No : AAQCA8977K Supplier GST No : 07AAQCA8977K1ZP Supplier Contact No : Contact Person Name : Priyanka/Premkant Rajpoot Supplier Email : anjlemepprojects@gmail.com	Cost Center Code : 90192015 Cost Center Name : Subway Project ID : PO Category : Capex NSO	Payment Term: 50% Advance along with work order. RA BILL Up to 95% after work completion & submission of invoice. Retention 5% DLP till completion of 6 months.	PO Creation Date : 15/01/2024 PO Approval Date : 18/01/2024 PO Currency : INR Buyer Name : Sarvesh Patil		

Sr. No	Item Code	HSN / SAC	Item Name	Item Description	Pur. Grp.	Qty	UOM	Basic Rate	Dis%	Net Rate	Total Amount	SGST %	CGST %	Gross Total Amount
1		995461	Sprinkler for	BOQ for Fire Sprinkler for Delhi T1 -	C01	1.00	NOS	145,370.00	0.00	145,370.00	145,370.00	9	9	171,536.60
			Subway	Subway										

Total Qty: 1.00

Total Basic PO Amount	145,370.00
Total Other Charges	
SGST Amount	13,083.30
CGST Amount	13,083.30
Grand Total PO Amount	171,536.60

Amount In Words: Rupees One Lakh Seventy One Thousand Five Hundred Thirty Six And Sixty Paisa Only

Remarks:.

Standard Terms And Condition:
Completion / Delivery TimeLine:
Mobilization Date: 29/01/2024
Defects Liability Period: 6 Months

Retention Percentage: 5

Escalation Buyer Detail						
Name	Mobile No.	Email - ID				
Jogeswar	9082949597	jogeswar.sahu@travelfoodservices.com				
Shadab	9892921705	shadab.sukri@travelfoodservices.com				

Disclaimer :

Point 1: Unless informed to us it is assumed that you are not registered as MSME with the respective government authority. If you have not yet provided the MSME details along with proof kindly provide the same at the earliest. Alternatively once you get registered then provide us relevant proof to update our records.

Point 2: Supplier is requested to acknowledge or decline the order within 24 hours or else it would be considered as accepted.

ItemCode :

ItemName : BOQ for Fire Sprinkler for Delhi T1 - Subway

Sr No	Item Code	Item Name	иом	Remarks	Quantity	Supplier Rate	Amount
1	1	Providing, laying, jointing, testing and commissioning of G.I. C Class pipes (IS 1239 (Part-I)-1979) including cutting,threading welding etc providing all malleable galvanized iron fittings conforming to IS 1879, viz. Flanges, bends, tees, elbows,reducers, unions, supporting with G. I. clamps, hangers, M.S. brackets etc. including cutting holes and chases in brick or RCC wall slabs and making good the same to the Approval of Architect consultant,complete including painting with one coat of primer and two or more coats of synthetic enamel paint of approved make and shade. (Note- Rigid flexible pipe extension from existing line is considered)			0.00	0.00	0.00
2	i)	25 mm dia.	RMT		25.00	620.00	15,500.00
3	ii)	32 mm dia.	RMT		5.00	700.00	3,500.00
4	iii)	40 mm dia.	RMT		10.00	850.00	8,500.00
5	iv)	50 mm dia.	RMT		10.00	1,050.00	10,500.00
6	v)	65 mm dia.	RMT		10.00	1,250.00	12,500.00
7	vi)	80 mm dia.	RMT		0.00	1,850.00	0.00
8	vii)	100 mm dia.	RMT		0.00	2,150.00	0.00
9	2	Providing , fixing testing and commissioning of pendant type sprinkler heads 68 deg. Temp.(Quick response type)-UL listed FM approved	No.		0.00	950.00	0.00
10	3	Providing , fixing testing and commissioning of concealed type sprinkler heads 68 deg. Temp.(Quick response type)-UL listed FM approved	No.		14.00	2,020.00	28,280.00
11	4	Providing , fixing testing and commissioning of upright type sprinkler heads 68 deg. temp(Quick response type)- Optional Subject to liasion team requirements	No.		14.00	650.00	9,100.00
12	5	Providing , fixing testing and commissioning of upright type sprinkler heads 79 deg. Temp (Quick response type)-UL listed FM approved	No.		0.00	1,150.00	0.00
13	6	Providing fixing testing and commissioning of braided UL listed FM approved SS Flexible pipe			0.00	0.00	0.00
14	i)	1 MT Long	No.		7.00	2,000.00	14,000.00
15	ii)	1.6 MT Long	No.		7.00	2,420.00	16,940.00
16	7	Gun metal chrome finished Ball valves (PN 16) with fittings of screwedend type.			0.00	0.00	0.00
17	I)	40 mm dia.	No.		1.00	2,400.00	2,400.00
18	l)	32 mm dia. (Sprinkler drain-OPTIONAL)	Nos.		1.00	2,150.00	2,150.00
19	8	Wheel operated Butterfly Valves (PN 16) with inbuilt supervisory switch (UL listed and FM approved) with CI Body, Black Nitrile Body Liner and Nylon Coated SG Iron Disc with material and labour including hydraulic testing etc. complete as per drawing, specification to the level of satisfaction of Site- Incharge.			0.00	0.00	0.00
20	I)	150 mm dia.	No.		0.00	0.00	0.00

	•		•	Total :	106.00		145,370.00
29	14	Ceasefire 5 Kg Ceiling Mounted Fire Extinguisher Clean Agent FE-36, Zero ODP, Stored Pressure Type, Pressure Gauge, Gross Weight 7.7 Kg, empty Weight 2.7 Kg, Can Height 264MM, Diameter 240MM, Discharge Time less than 8 Secs, Auto discharge mechanism on temperature rise, applicable on Class A,B,C and electrically started Fire, Can Construction Deep drawn Co2 Mig welded, Valve Construction Forging Machining, Internal Coating of Can Epoxy Powder coating, External Coating of Can Epoxy Polyster Powder coating, Sheet metal thickness 2.0MM, Helium Leak Detection Test, 5 Years Warranty-model no 1CH21CF	No.		0.00	0.00	0.00
28	i)	65 mm dia.	No.		1.00	3,500.00	3,500.00
27	13	Flow switch on sprinkler distribution header on floor with 2 SPDT contacts suitably rated, capable of the high pressure system and connected to fire alarm panel through cable. (OPTIONAL IF REQUIRED BY CLIENT)			0.00	0.00	0.00
26	12	9Lit AR-AFFF type fire Extinguishers with wall mounting brackets	Nos.		0.00	0.00	0.00
25	11	5kg capacity CO2 type fire Extinguishers with wall mounting brackets	No.		0.00	0.00	0.00
24	10	6kg capacity K type fire Extinguishers with wall mounting brackets	No.		0.00	0.00	0.00
23	9	6kg capacity ABC type dry chemical powder fire Extinguishers with wall mounting brackets	Nos.		0.00	0.00	0.00
22	l)	65 mm dia.	No.		1.00	18,500.00	18,500.00
21	l)	100 mm dia. (OPTIONAL)	No.		0.00	0.00	0.00